How much heavier is

(a) droid 2 than droid | (b) droid 4 than droid 3
(c) droid | than droid 3 (d) droid 4 than droid 2
(e) droid 4 than droid | (f) droid 2 than droid 3?

@ 182- 49 (b) 746-18 () 383
() 535- 67 () 874-89 (g 457

=35 (d) 661 - 44
-58 (h) 27-0-96

How much longer is spaceshuttle
Comet than spaceshuttle

(a) Laser (b) Sunburst
(c) Mercury (d) Explorer?

Find the difference between
the lengths of

(a) Mercury and Explorer
(b) Sunburst and Mercury
(c) Laser and Sunburst.

Name each pilot’s spaceshuttle.

ax’s shuttle is 161 m )
shorter than mine.

My shuttle is 19 m D
longer than Yod’s.

Decimals: tenths, written subtraction




